

Integration using substitution can be thought of as the chain rule in reverse.
Integration by parts can be thought of as the product rule in reverse.

$$\frac{d}{dx} \Big[f(x) \cdot g(x) \Big] = f'(x) \cdot g(x) + f(x) \cdot g'(x)$$

$$\int \frac{d}{dx} \Big[f(x) \cdot g(x) \Big] dx = \int \Big[f'(x) \cdot g(x) \Big] dx + \int \Big[f(x) \cdot g'(x) \Big] dx$$

$$f(x) \cdot g(x) = \int \Big[f'(x) \cdot g(x) \Big] dx + \int \Big[f(x) \cdot g'(x) \Big] dx$$

$$f(x) \cdot g(x) - \int \Big[f'(x) \cdot g(x) \Big] dx = \int \Big[f(x) \cdot g'(x) \Big] dx$$

$$\int \Big[f(x) \cdot g'(x) \Big] dx = f(x) \cdot g(x) - \int \Big[f'(x) \cdot g(x) \Big] dx$$



